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GCSE (9—1) Physics A (Gateway Science)

J249/04 Paper 4, P5 — P8 and P9 (Higher Tier)

If you wish to use the published question paper as practice material, please make the following
correction:

Turn to page 24 of the question paper, look at (d)(i).
Cross out the number, ‘614 000 J and replace with ‘614 400 J'.
The question should now read:

‘Show that the kinetic energy stored by the car at 32 m/s is 614 400 J.’

If you have any queries, please call our Customer Support Centre on 01223 553998 or email
general.qualifications@ocr.org.uk
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